Lecture Seven
(1OREBEEIZEIE. BiE. ES
Z4-SEET L EEIR”)



ATIRRRER

o SEETMRERNDE

o SERETMRERKERE

o EEITMARERRIEMNR

o EETMREIRITEIE

o EEIBMARERE FRERINT. BMECKRLEEEHE. BEHERHE
o ERETMARERE(FILIIN



4 SEREEMRERND R

(1)Different concepts
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(3)Assuming that characteristics of a group apply to
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(1)Different concepts
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The following appeared as part of a recommendation from the financial planning office
to the administration of Fern Valley University:

“In the past few years, Fern Valley University has suffered from a decline in both
enrollments and admissions applications. The reason can be discovered from our
students, who most often cite poor teaching and inadequate library resources as their
chief sources of dissatisfags
number of students
most prestigio

with Fern Valley. Therefore, in Qrder to increase the
nding our university, and hence to regal our position as the
hiversity in the greater Fern Valley metropolitdn area, it is necessary
und-raising campaign among the alumni that will engble us to expand the
range of subjects we teach and to increase the size of our library facilities.”






A threshold problem involves the definition of

A . The arguer fails to define this critical term.

If A is defined as_B , then_C is irrelevant to A .

In short, without a clear definition of A , it is
impossible to assess the strength of the

argument.
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The following appeared as part of a campaign to sell advertising time on a
local radio station to local businesses:

“The Cumquat Café began advertising on our local radio station this year
and was delightéll to see its business increase by 10 percent over last
year’s totals. Thein\ success shows you how you can use radio advertising
to make your business more profitable.”

Discuss how well reasoned ... etc.



(2)What is true for a member is also true for the group
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The following appeared as part of a newspaper editorial:

“Two years ago Nova High School began to use interactive computer instruction in
three academic subjects. Jhe school dropout rate declined immediately, and last year’s
graduates flave reported some impressive achievements in college. In future budgets
the schgbl board shqfld use a greater portion of the available funds to buy more
compuygkrs, and all schools in the district should adopt interactive computer instruction
throughout the curriculum.”

Discuss how well reasoned ... etc.






The argument resets on the assumption that
TMEZEBF typify nationwide EE{RIEIR . If this is
not the case, then it is entirely possible that

EE—TiG, ERTENERTRREBFNER.

Thus, lacking more marketing information

about nationwide, it is difficult to assess

the merit of the memo’s recommendation.
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(3)Assuming that characteristics of a group apply to each group member
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The following is part of a business plan being discussed at a board meeting of the Perks
Company:

“It is no longer cost-effective for the Perks Company to continue offering its employees a
generous package of benefits and inc ivm national
unemployment rates are low, Perks need to offer such a package in order to attract and
keep good employees, but since national unemployment rates are now high, Perks does not need

to offer the same benefits and incentives. The money thus saved could be better used to replace

the existing plant machinery with more technologically sophisticated equipment, or even to build
an additional plant”

Discuss how well reasoned ... etc.






One problem with the argument is that it
assumes that the nationwide statistics about

___applies equally to {MKpk 5. Yet this might
not be the case, for a variety of possible
reasons. Perhaps ______; or perhaps .
Without ruling out such possibilities, the

author cannot justifiably conclude that .
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